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. HEMRBRIETE , ERTEEHA ? m = SEgie)
A) 'x' B) 'y'|C) 'z'|D) RELXLZET m.push(’x")
m.push('y")
. BTFRRBITE  BRTERHA ? we i P
a) 'x' B) HesnzT[0) 2Em!] D) 'z oty
m.peek()
) IBS—I R, AstackBIRAHISTE | BMASHNFEE | RIgW
i
def revString(mystr): -
Sl B = SEatk()
char mystr: m.push('x")
stack.push(char) m.push('y")
) result = "' m.push('z")

stack.isEmpty(): while not m.isEmpty():

result stack.pop()
result m.pop()

m.pop()
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y FIEMPERAINEIEERI 10 + 3 * 5/ (16 - 4)
y MTEEEFERE:17 10 + 3 * 9 /

y H EBBIIRR) infixToPostfixEREINES , FZEE L IBIBEUIR(ET
“\n - ST RS

SRRV R iEde: 5% 3 A (4 -2)

(10 + ((3 * 5) / (16 - 4)))
=> (10 ((3 * 5) (16 — 4) /) +)
=> (10 ((3 5 *) (16 4 -) /) +)
=>10 35 * 16 4 - / +

17 10 + 3 * 9 /
=> (((17 10 +) 3 *) 9 /)
=> 9
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y  SEIunorderedListfappendf5iZk , FigHILAZHNRESERER
4 ?

»  NER{EUnorderedListZRPRIMI—1NEE , FialbliGappend5iERY
SHEREERo(1) , (BEEXNMEZ=MSEIA | MEEEEMN{E
addf3i% , gL FhRYappend/addFFiZ,

y iBfEEE Fremove5i% , SRERRNTRERERE—IRIER |
PAR RPN EN— 1B SZRIER.



append(item): FA—/NEAEME| X RE, RikitemBR ARG ETH R F

def append(self, item):
self.head None:
self.add(item)

currentNode - self.head
nextNode = currentNode.getNext()
nextNode None:
currentNode - nextNode
nextNode - nextNode.getNext()
currentNode.setNext(Node(item))

def add(self, item):
temp - Node(item)
temp.setNext(self.head)
self.head = temp
self.rear None:
self.rear = temp
def append(self, item):
self.head None:
self.add(item)

éelf.rear.setNext(Node(item))
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def 1nf1xToPostf1x(1nf1xexpr)
Precit="a it
opStack = Stack()
postfixList = []
tokenList = infixexpr.split()
token tokenList:
token.isdigit():
postflelst append(token)
token ST
opStack.push(token)

token Lyite
onStack.peek() A GV

postflelst append(opStack pop())
opStack.pop()

§ opStack.isEmpty()) \
(precLopnStack peek()] nrecltokenl):
postfixList.append(opStack.pop())
opStack.push(token)
opStack.isEmpty():
postflelst append(opStack.pop())
“T.join(postrixList)




def doMath(op, a, b):
op "+
a+b

a .b

op

ValueError('Invalid op')

def postfixEval(postfixExpr):
operandStack = Stack()
tokenList = postfixExpr.split()
token tokenList:
token.isdigit():
operandStack.push(int(token))

b = operandStack.pop()

a - operandStack.pop()
result = doMath(token, a, b)
operandStack.push(result)
operandStack.pop()




def 1nf1xEval(1nf1xexpr)
prec Dtk AR S S
opStack Stack()
operandStack = Stack()
dej applyOp(op):
b - operandStack.pop()
a - operandStack.pop()
result - doMath(op, a, b)
operandStack.push(result)
tokenList = infixexpr.split()
token tokenList:
token.isdiagit():
operandStack push(lnt(token))
toKen i

opStack. push(token)
token tyde
onStack peek() LY 21
applyOp(opStack.pop())
opStack.pop()

( opStack.isEmpty()) \
(preclopStack. peck()] orec[token]):

Sl B 2 |

applyOop(opStack.pop())
opStack.push(token)

AnCH+a~l S eCmntwul ).

NP e e S IR mar A w gy,

applyOp(opStack.pop())
operandStack.pop()
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def radixSort(data, radix = 10):
slots = [Queue() _ range(radix) ]
base = radix
True:
X data:
slots[x % (radix * base) / base].enqueue(x)
slots[0].size() len(data):

data = []
queue slots:
queue.i1sEmpty():
data.append(queue.dequeue())
base radix
data
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def htmlCheck(html):
s = Stack()
balanced = True
index = 0

index < len(html) balanced:
char = html[index]
char et
index 1
tagName
c = html[index]
index 1
C o
tagName @
c = html[index]
index 1
len(tagName) > 0O tagName[ 0] S
balanced = ( s.i1sEmpty()) (s.pop() tagName[1:])

s.push(tagName)
index 1
balanced s.isEmpty()
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random
def randomizedHotPotato(namelist):
simqueue = Queue()
name namelist:
simqueue.enqueue(name)

simqueue.size() > 1:
num = random.randint(®, simqueue.size())
1 range(num):
simqueue.enqueue(simqueue.dequeue())
simqueue.dequeue()
simqueue.dequeue()




